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X(em) | B X(cm) B
2762 | 14 | 1473 | 254
2793 | 14 | 1376 [W22%
2793 | 24 | 1281 | 204
2793 | 24 1.5 | 174
28.18 | 24 | 1068 | 144
27.13 | 54 | 1014 | 124
2605 | 6.4 944 | 104
25.15 | 94 8.67 8.4
2389 | 104 | 8.3 6.4
2364 | 144 | 741 6.4
2271 | 164 | 696 | 54
2172 | 184 | 639 | 34
2097 | 214 | 605 | 34
2022 | 224 | 56 2.4
18.61 | 254 | 585 | 24
1825 | 264 | 5.65 1.4
1799 | 284 | 5.5 1.4
1694 | 284 | 5.5 1.4
166 | 284

15.68 | 274
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2. ZWELGH

| X(em) | B | X(em) | B

| 2037 | 2i8 | REEE NS
1956 | 48 | 765 | 178
194 | 58 | 641 | 198
184 | 88 | s41 | 208
1825 | 98 | 505 | 188
1764 | 118 | 459 | 198
1704 | 128 | 379 | 168
1620 | 128 | 379 [ 158
1553 | 148 | 333 | 138

14.83 15.8 2.87 7.8
14.12 16.8
14.22 17.8
13.11 16.8
11.96 16.8
11.29 17.8
11.39 17.8
11.45 16.8
11.29 16.8
10.39 17.8
9.63 17.8
&
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X(cm) B X(cm) B
30.43 1.1 10.7 -5.9
29.64 1.1 10.58 -6.9
28.78 1.1 9.78 -12.9
27.36 23 8.83 -14.9

26.82 2.1 7.98 -15.9
26.46 Jal 7.47 -20.9
24.39 4.1 5.61 -19.9
22.99 6.1 495 -18.9
21.94 8.1 3.78 -18.9
20.66 92 3.1 -17.9

19.51 12.1 3.23 -18.9
18.2 14.1 279 -16.9

17.35 15.1
16.29 14.1
15.53 15.1
14.47 12.1
13.5 721
12.76 4.1
12.41 1.1
11.09 -1.9
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X(em) | VmV) | X(em) | V(mV)
20 700 -1 8760
19 800 -2 8520
18 920 -3 8160
17 1030 -4 7520
16 1140 -5 7040
15 1290 -6 6320
14 1510 -7 5520
13 1700 -8 4800
12 1940 -9 4200
11 2260 -10 3640
10 2580 -11 3080
9 3100 -12 2640
8 3820 -13 2400
7 4320 -14 2120
6 4960 -15 1920
S 5640 -16 1640
4 6520 -17 1400
3 7200 -18 1320
2 7880 -19 1160
1 8360 -20 1080
0 8760
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20 | SBURIN 8120

| 19 | 1000 | 2 | 7ss0

|18 | (iGN

17 | 1260 | 4 | 7080

|16 | 4205 6480
15 1630 -6 5640
4 110 | 7 | sie0
13 | 2030 | 8 | 4520
12 2360 -9 3920
11 | 2940 | -10 | 3400
10 | 3260 | -11 | 3000
9 3860 | -12 | 2520
8 4320 | 13 | 2200
7 5160 | -14 | 1920
6 5120 | 15 | 1720
5 6400 | 16 | 1560
4 6960 | -17 | 1480
3 7520 | 18 | 1320
2 7920 | -19 | 1160
1 8120 | 20 | 1000
0 8240
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3. ZMELHLE : d=R

X(em) | V(mV) | X(em) | V(mV)
20 1100 -1 7280
19 1220 2 7280
18 1380 -3 7240
17 1560 -4 7160
16 1820 -5 6920
15 2030 -6 6680
14 2420 -7 6360
13 2860 -8 5720
12 3220 -9 5240
11 3680 -10 4680
10 4220 11 4160
9 4620 -12 3640
8 5080 -13 3200
7 5960 -14 2840
6 6480 -15 2480
5 6800 -16 2200
4 7040 -17 1960
3 7160 -18 1720
2 7240 -19 1480
1 7240 -20 1260
0 7200
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0
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X(em) | V(mV) | X(em) | V(mV)

20 1410 -1 5200
19 1600 -2 5240
18 1850 -3 5320
17 2030 -4 5480
16 2420 -5 5800
15 2960 -6 6040
14 3400 -7 6120
13 3900 -8 6160
12 4220 -9 6040
11 4700 -10 5840
10 5080 -11 5760
9 5640 -12 5240
8 5960 -13 4840
7 6120 -14 4280
6 6160 -15 3840
5 6080 -16 3280
4 5880 -17 2760
3 5640 -18 2440
2 5440 -19 2120
1 5280 -20 2040
0 5160

-20

20

30
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X(em) | V(mV) | X(em) | V(mV)

20 840 -1 1000
19 1000 -2 2040
18 1080 -3 3080
17 1240 -4 3800
16 1480 -5 4120
15 1720 -6 4360
14 1960 -7 4440
13 2280 -8 4240
12 2640 -9 3760
11 3000 -10 3440
10 3400 -11 3000
9 3800 -12 2520
8 3920 -13 2240
7 4200 -14 1960
6 4280 -15 1720
5 4120 -16 1400
4 3640 -17 1240
3 3000 -18 1000
2 2160 -19 840
1 1160 -20 800
0 160

5000
4500
4000
3500
3000

2500

V(mV)

2000
1500
1000
500
0
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